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The attempt is to capture the change  
made during the course of the year
For example, Jharkhand, Jammu  
and Kashmir, and Uttar Pradesh are 
ranked fi rst, second and third in their 
incremental performance ranking

Correct Option: (c)14. 
Explanation:

Statement 1 is correct:  The reason 
for male dominated migration can be 
male-centric workforce, poor sex ratio, 
patriarchal values etc.
Statement 2 is correct:  Between 1991 and 
2001 the growth rates of the workforce 
and migrants for economic reasons 

were nearly identical, at 2.4 per cent per 
annum. But as GDP growth started to soar 
over the next decade, the two began to 
diverge. The growth rate of migrants rose 
spectacularly to 4.5 per cent per annum, 
while the workforce growth rate actually 
fell. Thus, the migrants’ share of the 
workforce rose substantially. A breakdown 
by gender reveals that the acceleration of 
migration was particularly pronounced 
for females. In the 1990s female 
migration was extremely limited, and 
migrants were shrinking as a share of 
the female workforce. But in the 2000s 
the picture turned around completely: 
female migration for work not only 
grew far more rapidly than the female 
workforce, but increased at nearly 
twice the rate of male migration.

Correct Option: (d)15. 
Explanation:

The Organisation for Economic Co- 
operation and Development (OECD) 
was established in 1961 as a forum for 

governments to share experiences and 
seek solutions to common economic and 
social problems. Today, approximately 50 
industrialised and emerging-economy 
countries have joined the OECD as 
members or adherents.


